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PF2U [Post Disruption]
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- Faults (NC): [1.4998812, 2.5002784]
EFaults (PS): [1.4998812, 2.5002784

Shot #: 2616, Param Tree: 72

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

E Conditioned Data (DCPS), Limits: [-1.5000000, 15.000Q00]
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"Action (idl), Max = 533.356, End Val.= 533.356
L Full Action (idl), Limit = 1240.00, Max.=533.776, End Val. 533.356
L Shot #: 2616, Param Tree: 72
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E_IDL, Circular, [-0.0116222, 19.9901]
DCPS, Circular, [-0.011622231, 19.99008
IDL, Shaped [Displaced], [-0.0121658,

DCPS, Shaped [Displaced], [-0.0121
Shot #: 2616, Param Tree: 72
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